
#58246 STADIUM RAIDER
Scale: 1:10

Category: Electric
Chassis Type: TL01

FEATURES:

• Newly designed silver wheels and spire spike
tires

• Colorful racing stickers, RS-540 motor and 3-step
mechanical speed controller included

PART # DESCRIPTION
1825188 Body
50735 TL01 A Parts (Chassis) (A1-A3)
50736 TL01 B Parts (Upright) (B1-B14)
50737 TL01 C Parts (Sus. Arm) (C1-C20) (2 pcs.)
50855 TL01 E Parts (Body Mount) (E1-E4) (2 pcs.)
50738 TL01 G Parts (Gear)

G Parts (G1-G3) x1 Spur Gear x1
Diff. Spur Gear x2 Counter Gear x1
Idler Gear x1

0445744 *1 Wheels (2 pcs.)
53092 *1 6024 4WD Spire Spike Front Tires (2 pcs.)
9415332 Metal Parts Bag A
9415598 Metal Parts Bag B
9415599 Metal Parts Bag C
50582 3x14mm Step Screw (MA2 x5)
50577 3x10mm Tapping Screw (MA4 x10)
50575 2.6x10mm Tapping Screw (MA5 x5)
50573 2x8mm Tapping Screw (MA6 x10)
50602 *1 Diff. Bevel Gear Set

(MA7 x2, MA16 x2, MA17 x3, MA18 x1)
0555015 1150 Plastic Bearing (MA8 x10)
3550008 5x30mm Shaft (MA10)
50594 2x10mm Shaft (MA12 x10)
50355 *2 18T, 19T AV Pinion Gear Set (MA13...etc.)
50576 3mm Grub Screw (MA14 x10)
50038 Tool Set (Box Wrench, Hex Wrench, MA14 x4)
4305125 Motor Plate (MA15)
9405830 *1 Screw Pin Bag (MB3 & MB4, 2 pcs. each...etc.)
9805557 4mm Flange Lock Nut (MB5 x4)
50197 Snap Pin Set (MB7 x5, MB8 x10)
9805368 *1 Gear Box Joint (MB10 & MB11, 1 pc. each)
50823 *1 TG10 Wheel Axle (MB12 x2)
50806-D *1 TG10 Drive Shaft (MB13 x2)

(50883 Replaces 50806)
9805485 *1 Coil Spring (MB14 x2)
3555120 Center Shaft
50171 Heat Resistant Double-Sided Tape
50595 Nylon Band w/Metal Hook (10 pcs.)
87025 Ceramic Grease
9415540 Speed Controller Bag

Instructions x1
Resistor x1
Speed Controller x1
Speed Controller Cover x1
Speed Control Rod x1
Switch Lubricant x1
3mm Washer x4
3x10mm Tapping Screw x11

7435044 Motor
6095003 Antenna Pipe (30cm)
9495330 Sticker & Masking Seal
1055924 Instructions

R/C SPARE PARTS & HOP-UP OPTIONS
50356 *2 20T, 21T AV Pinion Gear Set
50357 *2 22T, 23T AV Pinion Gear Set
50746 CVA Super Mini Shock Unit Set
53008-D 1150 Sealed Ball Bearing (4 pcs.)
53024 4mm Aluminum Flange Lock Nut (10 pcs.)
53029 1150 Sealed Ball Bearing (2 pcs.)
53056 Pin Type Wheel Adapter
53068 RS-540 Sport-Tuned Motor
53070 Manta Ray Ball Diff. Set
53095 3x10mm Titanium Tapping Screw (10 pcs.)
53115 Skyline GT-R Universal Shaft Set (2 pcs.)
53141 4WD Touring & Rally Car Lightweight King Pins
53144 Touring & Rally Car Bushing & Ball Connector Set
53155 Low Friction Aluminum Damper Set (2 pcs.)

(4WD/FWD Touring & Rally Car)
53159 4mm Anodized Aluminum Flange Lock Nuts (Blue)
53160 4mm Anodized Aluminum Flange Lock Nuts (Red)
53161 4mm Anodized Aluminum Flange Lock Nuts (Gold)
53162 4mm Anodized Aluminum Flange Lock Nuts (Black)
53163 On-Road Tuned Spring Set

(4WD/FWD Touring & Rally Car)
53267 TA03 Ball Differential
53272 Dyna-Run Racing Stock Motor
53280 TA03 Super Low Friction Damper Set (4 pcs.)
53292 TL01 Ball Bearing Set
53300 TL01 Turnbuckle Tie-Rod Set
53301 TL01 Stainless Steel Suspension Shaft Set
53303 TL01 Adjustable Upper Arm Set
53322 TL01 Hollow Carbon Gear Shaft
53323 TL01 Carbon Propeller Shaft
53324 TL01 Stabilizer Set
53333 Touring Car Tuned Spring (Short)
53342 TL01 Speed-Tuned Gear Set
53346 TL01/M03 Quick Release Battery Holder
53347 3x3mm Spring Set Screw (10 pcs.)

*1 Requires 2 sets for one car.
*2 Only 19T, 21T and 23T can be used.

D=discontinued

Tamiya America, Inc.
2 Orion, Aliso Viejo, CA  92656  
(949) 362-2240   Fax: (949) 362-2250
Consumers: (800) TAMIYA-A    
Dealers: (800) 5-TAMIYA




